





Parts and Operation Elements




Hardware

o

R

G

%

6x33.5mm 15x9mm ‘
Cam Bolt Cam Lock 6x30mm Dowel = 5x48mm Screw
A x92+2 x92+2 (C x48+2 (D x16+2
5555 S
v"\ﬁ‘ '\\3
4x30mm Screw 3.5x12mm Screw 30mm 6x25mm Screw
E x40+2 (F x140+2 @G x92+2 H x4
6x10mm Screw 4x16mm Screw
0 X2 J) x10 K x20+2 L X2

4x14mm Screw

3x14mm Screw

® &

(-]

Gently screw cam
bolt into the
threaded anchor.

Insert the wood dowel
halfway into hole.

Screw the camlock
firmly into locked
position.




Please kindly note the following points when
you assemble the sliders of the drawers

Z:S\/% X% ><§
















-
w P ©
,
ol
e
7 (]
,

| o
| O
,

,

,

L 0
| GO
,

,

,

,

,

,

L 0
[ Gr— — |10
, o
,

,

B
! o
\ f

10




180°

/———————————————F—————————————\
!
do

11



12




13







15



16



17




18



19



x10

[

q
b
W

T

20



"
x29

21




22



23









x10

X10

26



C solid wood

JUIE

|||||||||||

(520 7 0 7 | o870/~ S—

AWaming: If you overturn the furniture, it may cause serious or fatal crushing injuries.
We have a wall connection device attached, please use it to hold the furniture
following these instructions.

1. Mark the corresponding hole positions where you want to place the furniture;

2. Use a impact drill to drill holes and pay attention to avoid wires and water pipes;

3. Knock the expansion pipes into the wall holes;

4. Place the furniture in the corresponding position and tighten the wall
connection device with screws.

27




28



29





